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Z 2 (Class) & vizt
Class A 5.50 3.80 10.25 12.95
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(HlmX|== CHH| A1t - - , -
Class C 5.40 3.59 9.92 12.51
(HlmX|4= CHH| A1t - - , -
Class C-F 5.58 3.94 1048 13.25
(HlmX|<= CHH| 41t - ; - B
Class C-P1 5.49 3.79 10.26 -
(HlmX|<= CHH| 41t - ; - B
Class C-P1e 5.53 3.86 10.34 13.07
(HlmX|<= CHH| A1t - - , -
Class C-P2 5.46 3.71 10.11 12.77
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Z 3 (Class)d szt
Class A 12.95 7.65 - -
(HlmX|== CHH| A1t - - - -
Class A-e 13.12 7.97 - -
(HImX|== CHH| A1t - - - -




Class C 12.51 6.80 - -

CEREEEED - - - -

Class C-F 13.25 8.23 - -

(Bl % Cel Hh - : : -

Class C-P1 - - - -
(BIRR|% ChE] Hh - - - -
Class C-P1e 13.07 7.88 - -
(BIRR|% Che] 41h - - - -
Class C-P2 12.77 7.54 - -
(BIRR|% Che] H1h - - - -
Class C-P2e 13.02 7.78 - -
(BIRR|% Che] H1h - - - -
Class C-W 13.41 - - -
(HlmX|== CHH| 41 - - - -
Class C-e 12.90 7.54 - -
(BIER|% Che] 41h - - - -
Class S 13.14 8.02 - -
(BIRR|% ChE] H1h - - - -
Class S-P 13.21 8.15 - -
(BIRR|% Che] Hh - - - -
Class S-R 13.22 8.18 - -
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